Math 141 Fall 2017

3.3 Product and Quotient Rules

Theorem 3.3.1 (Product Rule).
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Theorem 3.3.2 (Quotient Rule).

£t (a0 =y orty
fj ()™

=X -cj - / —c—é‘ K
! dx dx . A 7 o “DNE
Example 3.3.2. What is — (";;:_ ,ff ae |

T J . )
@ (7*¢7) ~/Jx‘d(,rzm/m’d K3k gl Xk
_——--—-.__._____________F Y

ks 272 P9:0e3  gloesi

9 of 50



Section 3.3: Product and Quotient Rules Math 141 Fall 2017

Example 3.3.3. Use the information in the table to answer the following questions.
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What is (fg)'(1)?
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If F(z) = 322 f(z), what is F'(1)?
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If H(z) =

what is H'(1)?
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2
Example 3.3.4. Find the tangent line to f(z) = a:Z_-T—l at z = 2.
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